EARAROBEEIERT — 2 N— IBISH —F 2019437108 (H) 18E=H1H

mﬂey;{,@g@ﬁ: VR C2 Y% —# ‘ [(XM8] ‘ (EmEl  — | & (B) 14000 &
[A&4£] 1 7 :400,000  ~ 2 3#&:140,000 @ ~ 3 3#%:80,000  ~ 43#&:60,000” . 5 3&:40,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S Zx Ao &n . Q-5 — = =
: X439 50 2 H o4 glmta 1.(3_1).3 7-6-6-3 | 40.1 1 :152) Z‘fiiﬁ% (=50
LHIRT4 TR BiAAYanTLast pNCrie]
- $= w7 | EREFR 1:31.5 5-4-3-2 | 40.6| — 3 514 | AEES L (EH)
2 TA4—IANZ 56.0 ) (H2) | W) 77— bETa>
LA TATv— BNTILT ppal=laz el
44 | FERSH 1:32.0 1-1-1-1 | 41.8| — 2 501 | HEEX (SH)
3N 4| TLt—E1O— 56.0 2 1/2) (+4) | KABE
L ILF—94F— B:ILF-T>I17 ik —K
~ KB LR . -0 — fmlEE ()
4 X4 ILTI it 6 25 (17.?1.;) 9-9-9-7 |40.2 7 ?:127) ns g
L:7ROF>TEL B:FUE-I-X H#RAEHH 2 ViR
Soa s = AAH :34. —8-7- . — Arhfh— (FH)
N IR LR e 5 o 1(314)6 8-8-7-4 | 42.7 6 ig? e
L:d—IRAqO— B:7TUEET Y b Rl EE
o BEEK : —3-0- — HpEZ (SH)
6 TNy 6B 7 MRS R ! ?Z;) BAESEE
L:T7NTTT B:TTyN=—gq4 EHEAS
3, 47 | EFRNE 1:35.8 10-10-10-10{ 40.1 | — 10 | 522 |#MIIEFE (&H)
718l10 TA 97— 56.0 @) (1) | EHER
R:ZR=y VIl B:XMA—bTTK ST UL ¢
N N BEAMER : -5-6- = BBEEX (FH)
slglolm—Fbwyan LI e 1(.13/52.)9 4-5-6-8 | 44.3 8 (4_419) idare
R:ZR2F1—FTUNFTs B:RLIXRTP 39 ry > aEERKSH T avk
= 5 | BIFFER 1:36.8 2-0-4-6 | 45.9| — 5 454 | BiBXE (BH)
9l7lg| 7#—HAXZ1 b # #53.0 ) © &) 7yxs> b
LT RIAY Ty IR B R—LIILES JO-Y—T7—L
i LT Hhkta :38. -7-8- 4 - FHA (BH)
w0l111|TzrRLF S 7 il 1(398)7 6-7-8-9 | 46.4 9 (4+621) REa
R:x421=T7—ZX B:7RvIYLy R (B) #HAEA-FKL—>a>AE77
® 1—F—@EBIERL
1T=7r= 4,8,3,9,5,1,6,2,7,10
2a=5F= 4,8,3,5,9,6,1,2,7,10
Ja=5= 4,3,5,8,6,9,2,1,7,10
43—+ — 4,5,6,2,3,8,7,9,1,10
[ N5
B 6 200 714K 5-6 140H e E 5-6 310 JEE 4-5-6 190M
B B 6 1004 4-6 120H B = 5-6 290M JEE 6-5-4 820M
5 1004 4-5 170H B H 6-5 580M
4 1009

ABICOVWTRDTEEERROODE. TR LIV,



